AUTO-HAK Sp. Z o.0.

ul. Stoneczna 16K 76-200 SLUPSK

tel/fax +48 59 8 414 414; +48 59 8 414 413
e-mail: office@autohak.com.pl
www.autohak.com.pl

AUTO-HAKX

POLAND

FIAT SCUDO 11

e20 | ¢20%94/20%0362*00

zabudowany-blaszak, VAN
% 02.2007 —>

CITROEN JUMPY I

PEUGEOT EXPERT IlI/Tepee
zabudowany-blaszak, VAN
X 02.2007 =>12.2015

TOYOTA PRO ACE
zabudowany-blaszak, VAN

X 04.2013 =>12.2015

D 11,93kN

%;, R=2000 kg

M6 M8 M10 Mi12 M14

M16

9,9 24 48 83 132

200

Sruba
Nm
klasa 8.8
klasa 10.9

285

14 34 67 117 185
Oﬂkm — O 1000 km




& 9 M12x110 x2
10M12x40 x8
11|M 10x35 x2
12|M 8x35 x6
13/M6Ex15 x2
2 x1 14|90 58xp13x8 x2

® 30x910.5x2.5
B0 (oI 9021) x2
Art.nr-KL1R40A 16 D 24x98.5%x2 <6

3 x1 8 (DN 9021)
N r@ Art.nr-BL1R40A 17|00 13 x8

4 x1 P 18x96.4x1.6

85 oI g021] X4
5 x1 199 10.5 x1
@ 209 12.2 x8
6 x2 21(9 10.2 x2
229 8.2 x6
7 x2 23|90 6.2 x2
021.3:2.65mm, L=70mm | <>\ |24 M12 x8
8 x1 QQ 25\M10 x1
M10 26 M6 x2




01

— S
Y =

b~
(0].

il \[F\( JL{(’ o

]| 02

N
L= N

o

1 @




o
Wz L

=
o€ T
Y




4x ﬁ M12x40mm

4x ® o213
x @ o122

2x M12

08

2x ﬁ M12x110mm

2X @58xz13x8mm
2x J®21.3x2.65, L=70mm

4x ﬁ M12x40mm

4x @13
4x @ 2122

4x MI12




1x @24x28,5x2mm 10

Ix @ 2102

Ix @ MI0

1x ﬁ M10x35mm

Ix & 2105
Ix @ 2102

-10 -

11




15

1x M6
Ix @ ©6.2

a;n! 1x &18x26,4x1,6mm
®
1:‘: TEEss=s




	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11

